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【No. 1】 6， 7， 13 の小数部分をそれぞれ a，b，cとするとき，a，b，cの間の大小関係
として正しいのはどれか。
なお，実数 xの小数部分とは，nを nE x1 n+1 を満たす整数とするとき，x-nの値のこと

をいう。

1．a1 b1 c
2．a1 c1 b
3．b1 a1 c
4．c1 a1 b
5．c1 b1 a

【No. 2】 実数全体の集合を全体集合とし，部分集合 A，Bを，実数 aを用いて
A x x x2 8 02 F= + -# -
B x x ax a2 4 02 2 2= - + -# -

とする。次の aの値のうち， BA+ に含まれる整数が 1個のみとなるものはどれか。
ただし，B は Bの補集合を表す。

1．a=-3
2．a=-1
3．a= 0
4．a= 1
5．a= 3
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【No. 3】 図のような一辺の長さが 6の正四面体OABCにおい
て，辺OA上にOP= 2 となる点 P，辺OC上にOQ= 2 とな
る点Qをとる。このとき，9BPQの面積はいくらか。

1． 2 3
2． 2 5
3． 3 3
4． 53

5． 4 3

【No. 4】 上面及び下面が一辺の長さ 1の正方形で，高さが 2の，図のよ
うな直方体において，各面を赤，青，黄，緑，白，黒の 6色全てを用いて
塗り分ける方法は何通りあるか。
ただし，各面をいずれか 1色のみで塗るものとし，この直方体を回転さ

せて一致する塗り方は， 1通りと数えるものとする。

1． 20 通り
2． 30 通り
3． 60 通り
4． 90 通り
5． 120 通り
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【No. 5】 図のように，一辺の長さが 1の正六角形ABCDEFとその
頂点間を移動する点 Pがある。点 Pは，頂点Aから出発し，さいころ 
1 個を投げて出た目の数だけ，左回りに移動するものとする。さいこ
ろを 2回投げて移動した後の Pの位置がAである確率はいくらか。

1．
18
1

2．
12
1

3．
9
1

4．
36
5

5． 1
6

【No. 6】 不定方程式 20x+21y= 2021 を満たす整数の組（x，y）に対し， x y+ の最小値はい
くらか。

1． 91
2． 93
3． 95
4． 97
5． 99
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【No. 7】 図のようなAB= 5，BC= 12
である直角三角形ABCにおいて，その内
心を Iとし，線分AI，CI の長さをそれぞ
れ a，bとするとき，+AICの大きさと
abの値の組合せとして正しいのはどれか。

+AIC ab

1． 120° 26
2． 120° 26 2

3． 120° 26 3

4． 135° 26
5． 135° 26 2

【No. 8】 整式 f（x）= x3+ax+bが（x+2）2 で割り切れるように定数 a，bを定めたとき，f（-1）
の値はいくらか。

1．-21
2．-5
3．　3
4．　7
5．　19
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【No. 9】 図のように，点A（1，0）を通る直線は円C：x2+y2= 4 
と異なる 2点で交わる。C上の点 Pに対し，A，Pを通る直線と
Cとの交点で Pとは異なるものをQとする。Pが C上を動くと
き，線分 PQの中点Mの軌跡として正しいのはどれか。

1．x2+y= x

2． x y
2
1

2
1

- + =

3．x2+y2= x

4．x y
x

2
2

2

+ =

5．x y
x

4
2

2

+ =

【No. 10】 0E xE rのとき，t= sinx+cosxの値域と y= 2 sinxcosx+sinx+cosxの値域の組
合せとして正しいのはどれか。

tの値域 yの値域

1． t1 2E E- y
4
5

1 2E E- +

2． t1 2E E- y1 1 2E E- +

3． t 22 E E- y1 1 22 E E- +

4． t2 1E E- y
4
5

1E E-

5． t2 1E E- y1 2 1E E-

y
Q

M
A

C

P

O x
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【No. 11】 座標平面において y= x3-3xのグラフを C1 とし，C1 を x軸方向に 1，y軸方向に 1  
だけ平行移動したものを C2 とするとき，C1 と C2 で囲まれた部分の面積はいくらか。
なお，必要ならば，定数 a，bに対し

x x dx
6

3

a b
b a

- - =-
-

a

b] ] ]g g g#
が成り立つことを用いてよい。

1．
2
3

2． 3

3．
6
55

4． 5 5
3

5． 5 5
2

【No. 12】 数列 an" ,を a1= 3， tana a
n

1 3
3
2

n n1
r

= + ++ d n（n= 1，2，3，…）によって定める
とき，an= 2021 を満たす nの値はいくらか。

1． 2019
2． 2020
3． 2021
4． 2022
5． 2023
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【No. 13】 図のようなAB= 2，AD= AE= 1 である直
方体ABCD‒EFGHにおいて，線分BHと平面DEGとの
交点を Pとする。このとき，内積 PA・PBの値はいくら
か。

1． 1
3

-

2．　 0

3．　 1
3

4．　
3
2

5．　 1
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【No. 14】 次の㋐～㋓のうち，下線部の単語を各行右側の（　　　）内の単語に置き換えた場合にお
いても，ほぼ同じ意味の文になるもののみを挙げているのはどれか。
㋐　She seemed to be suffering from a serious disease. （illness）
㋑　He is not defeated by small obstacles. （regulations）
㋒　This book provides a different perspective on the problem. （viewpoint）
㋓　One characteristic of the machine is its safety. （measurement）

1．㋐，㋑
2．㋐，㋒
3．㋐，㋓
4．㋑，㋒
5．㋑，㋓

【No. 15】 次のＡ，Ｂ，Ｃの（　　　）内の㋐，㋑から，より適切なものを選び出したものの組合せ
として最も妥当なのはどれか。
Ａ．The new theater has a seating （㋐ ability　㋑ capacity） of about 5,000.

Ｂ．Somebody broke into the （㋐ certain　㋑ safe） yesterday.

Ｃ．I’m a （㋐ local　㋑ stranger） here, so I can’t tell you where the station is.

Ａ Ｂ Ｃ
1． ㋐ ㋐ ㋐
2． ㋐ ㋐ ㋑
3． ㋐ ㋑ ㋑
4． ㋑ ㋐ ㋐
5． ㋑ ㋑ ㋑



9 H6・8̶2021 学科（多肢）

【No. 16】 次のＡ，Ｂ，Ｃの（　　　）内の㋐，㋑から，より適切なものを選び出したものの組合せ
として最も妥当なのはどれか。
Ａ．You have （㋐ hardly　㋑ only） to let me have a glance at the picture.

Ｂ．He （㋐ should　㋑ would） often come to see me when he was a child.

Ｃ．I would rather （㋐ stay　㋑ to stay） at home today.

Ａ Ｂ Ｃ
1． ㋐ ㋐ ㋐
2． ㋐ ㋑ ㋑
3． ㋑ ㋐ ㋐
4． ㋑ ㋑ ㋐
5． ㋑ ㋑ ㋑

【No. 17】 次のＡ，Ｂ，Ｃの（　　　）内の㋐，㋑から，より適切なものを選び出したものの組合せ
として最も妥当なのはどれか。
Ａ．They have （㋐ been knowing　㋑ known） each other since they met on a trip ten years 

ago.

Ｂ．When I went back to my hometown which I （㋐ had left　㋑ have left） just five years 

before, everything was different.

Ｃ．I （㋐ have seen　㋑ saw） her in this room just now.

Ａ Ｂ Ｃ
1． ㋐ ㋐ ㋐
2． ㋐ ㋑ ㋑
3． ㋑ ㋐ ㋑
4． ㋑ ㋑ ㋐
5． ㋑ ㋑ ㋑
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【No. 18】 次のＡ，Ｂ，Ｃの（　　　）内の㋐，㋑から，より適切なものを選び出したものの組合せ
として最も妥当なのはどれか。
Ａ．If you have any questions, （㋐ raise　㋑ rise） your hand.

Ｂ．He denied （㋐ eating　㋑ to eat） my birthday cake.

Ｃ．I （㋐managed　㋑ succeeded） to learn how to operate a computer.

Ａ Ｂ Ｃ
1． ㋐ ㋐ ㋐
2． ㋐ ㋑ ㋐
3． ㋐ ㋑ ㋑
4． ㋑ ㋐ ㋑
5． ㋑ ㋑ ㋑

【No. 19】 次のＡ，Ｂ，Ｃの（　　　）内の㋐，㋑から，より適切なものを選び出したものの組合せ
として最も妥当なのはどれか。
Ａ．The temperature has been declining in recent weeks; （㋐ because　㋑ therefore）, the 

sales of ice creams are very low.

Ｂ．I think I might buy this piano, but I have not decided （㋐ still　㋑ yet）.
Ｃ．He controls （㋐ almost　㋑ almost all） of the country.

Ａ Ｂ Ｃ
1． ㋐ ㋐ ㋐
2． ㋐ ㋐ ㋑
3． ㋐ ㋑ ㋑
4． ㋑ ㋐ ㋐
5． ㋑ ㋑ ㋑
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【No. 20】 次の英文の空欄Ａ，Ｂ，Ｃに当てはまるものを㋐，㋑，㋒から選び出したものの組合せ
として最も妥当なのはどれか。

Although I am grateful for the interest, and even more so for the gratuities I sometimes 

receive for talking about woodlands and wildlife, Ａ , especially young ones, who 

know at the most 10 kinds of trees found in Japan― and even those they cannot describe.

It is really beginning to bother me that most people who come to listen to me don’t 
really have much of a clue what I’m talking about.  And that’s despite nearly 70 percent of 

Japan being covered by trees, and around 80 percent in Nagano, whether conifer＊1 

plantations, coppiced woodland＊2 or old-growth forest.  Even worse, I find this lack of 

vocabulary is becoming more apparent every year, especially among university students.

Ｂ .  Older Japanese may bang on and on about their whaling culture, but I gave 

up trying to discuss whales and whaling when I realized that very few knew the difference 

between a blue whale＊3, a humpback whale＊4, or an orca＊5.

Once, on a cruise ship off Iwo To （aka Iwo Jima in the Ogasawara Islands）, we’d all just 

been on deck watching humpbacks breaching and splashing when some women from Osaka 

came up to the table where I was sipping beer and asked if there was any difference 

between dolphins and whales.  I pontificated＊6 for a few minutes, describing toothed  

whales＊7 and baleen whales＊8 as the women nodded wisely to each other.  Then when I 

stopped, one of them turned to the others and said: “So you see, dolphins just keep on 

eating and eating and grow up to be whales.”  Ｃ .  My daughter, who was with me, saw 

the look on my face, kicked me under the table and whispered, “Daddy, be nice!”  It was 

trying, but I tried.

＊1 conifer: 針葉樹
＊2 coppiced woodland: 雑木林
＊3 blue whale: シロナガスクジラ
＊4 humpback whale: ザトウクジラ
＊5 orca: シャチ
＊6 pontificate:  to give your opinions about something in a way that shows you think you 

are right

＊7 toothed whale: ハクジラ。歯をもつ小型のクジラの総称。イルカはハクジラに分類される。
＊8 baleen whale: ヒゲクジラ。ハクジラと異なり歯をもたない。

著作権の関係のため、掲載できません。
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㋐　I might as well have been speaking a language used in Africa

㋑　I become more and more discouraged when talking to Japanese people

㋒　The same goes for marine mammals

Ａ Ｂ Ｃ
1． ㋐ ㋑ ㋒
2． ㋐ ㋒ ㋑
3． ㋑ ㋐ ㋒
4． ㋑ ㋒ ㋐
5． ㋒ ㋐ ㋑
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【No. 21】 次の文の内容に合致するものとして最も妥当なのはどれか。
The childhood obesity＊1 epidemic＊2 is a serious public health problem that increases 

morbidity＊3, mortality, and has substantial long term economic and social costs.  The rates 

of obesity in America’s children and youth have almost tripled in the last quarter century.  

Approximately 20% of America’s youth are now overweight＊4 with obesity rates in preschool 

age children increasing at alarming speed.  According to the Centers for Disease Control 

and Prevention, the prevalence of obesity has more than doubled among children ages 2 to 5 

（5.0% to 12.4%） and ages 6 to 11 （6.5% to 17.0%）.  In teens ages 12 to 19, prevalence rates 

have tripled （5.0% to 17.6%）.  Obesity in childhood places children and youth at risk for 

becoming obese as adults and associated poor health such as diabetes＊5, cardiovascular＊6 

disease, and some forms of cancer.  Prevention efforts must focus on reducing excess weight 

gain as children grow up.

Today’s children, ages 8 to 18, consume multiple types of media （often simultaneously） 
and spend more time （44.5 hours per week） in front of computer, television, and game 

screens than any other activity in their lives except sleeping.  Research has found strong 

associations between increases in advertising for non-nutritious foods and rates of childhood 

obesity.  Most children under age 6 cannot distinguish between programming and advertising  

and children under age 8 do not understand the persuasive＊7 intent of advertising.  

Advertising directed at children this young is by its very nature exploitative＊8.  Children 

have a remarkable ability to recall content from the advertisings to which they have been 

exposed.  Product preference has been shown to occur with as little as a single commercial 

exposure and to strengthen with repeated exposures.  Product preferences affect children’s 

product purchase requests and these requests influence parents’ purchasing decisions.

＊1 obesity1 obese: very fat, in a way that is not healthy

＊2 epidemic: a large number of cases of disease that happen at the same time

＊3 morbidity: 罹患率
＊4 overweight: too heavy and fat

＊5 diabetes: 糖尿病
＊6 cardiovascular: 心臓血管の
＊7 persuasive: able to make other people believe something or do what you ask

＊8 exploitative:  treating somebody unfairly in order to gain an advantage or to make 

money

著作権の関係のため、掲載できません。
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1．米国の子供の肥満率は，自動車等の普及による利便性の向上と共に上昇してきており，公衆衛
生上の重大な問題となっている。
2．米国の子供や若者の肥満率は 25年前の約 3倍で，現在は若者の約 20％が太り過ぎであり，
就学前の子供の肥満率は驚くべき速さで増えている。
3．疾病予防管理センターによると，米国では子供が 2歳から 5歳になると肥満率は 2倍以上に
上昇し， 6歳から 11歳になると 3倍以上に上昇する。
4．米国では， 6歳未満の子供は多くの時間をテレビやパソコンの前で過ごしているが，テレビ
の番組と広告を区別することはできない。
5．米国の子供は，コマーシャルを 1回見ただけでは影響を受けず，何回も見ることで徐々に影
響されていくが，コマーシャルよりも両親の購買傾向の方が子供の好みに影響する。
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【No. 22】 次の文の内容に合致するものとして最も妥当なのはどれか。
The ILO （International Labour＊1 Organization） Global Wage Report calculates gender 

pay gaps in innovative and more accurate ways, using data covering some 70 countries and 

about 80 per cent of wage employees worldwide.  It finds that globally women continue to be 

paid approximately 20 per cent less than men.

≪中　略≫
The report finds that in high-income countries it is at the high end of the pay scale that 

the gender pay gap is wider, while in low- and middle-income countries the gender pay gap 

is wider amongst the lower paid workers.  Using empirical evidence, the report also shows 

that traditional explanations, such as differences in the levels of education between men 

and women who work in paid employment, play a limited role in explaining gender pay 

gaps.

“In many countries women are more highly educated than men but earn lower wages, 

even when they work in the same occupational categories,” said Rosalia Vazquez-Alvarez, 

econometrician＊2 and wage specialist at the ILO and one of the authors of the report.  “The 

wages of both men and women also tend to be lower in enterprises and occupations with a 

predominantly female workforce.  To reduce gender pay gaps more emphasis therefore 

needs to be placed on ensuring equal pay for women and men, and on addressing the 

undervaluation of women’s work,” she said.

Another factor which weighs on the gender wage gap is motherhood.  The report shows 

that mothers tend to have lower wages compared to non-mothers.  This may be related to a 

host of factors, including labour market interruptions, reductions in working time, 

employment in more family-friendly jobs with lower wages, or stereotypical promotion 

decisions at enterprise level.

According to the report, a more equitable＊3 sharing of family duties between men and 

women would in many instances lead to women making different occupational choices.

＊1 labour2 labor

＊2 econometrician: 計量経済学者
＊3 equitable: treating all people in a fair and equal way

著作権の関係のため、掲載できません。
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1．レポートでは，調査の対象となった全ての国において，低賃金層に比べて高賃金層の方が男女
間の賃金格差がより大きいことが示されている。
2．レポートでは，男女間の賃金格差の最も大きな要因として，賃金労働者における男女間の教育
水準の違いを挙げている。
3．ILOの専門家は，男女間の賃金格差を是正するために，同じ職種であっても女性の賃金を男
性よりも高く設定することや，女性の仕事を過小評価しない対策が必要であると主張している。
4．レポートでは，子供のいる女性は，家庭と両立しやすいが賃金は低い仕事に雇用されることな
どの要因により，子供のいない女性より賃金が低くなる傾向があることが示されている。
5．レポートでは，家庭の責任を男女間でより公平に分担することにより，男性及び女性の賃金が
上昇する傾向があることが示されている。



17 H6・8̶2021 学科（多肢）

【Nos. 23 and 24】 Answer the two questions No.23 and No.24 about the following passage.

When Galileo Galilei pointed his first telescope to the heavens in 1610, he discovered 

“congeries＊1 of innumerable stars” hidden in the band of light called the Milky Way.  Our 

cosmos grew exponentially that day.  Roughly three centuries later, the cosmic bounds 

exploded once again when astronomers built telescopes big enough to show the Milky Way 

is just one of many “island universes.”  Soon they learned the universe was expanding, too, 

with galaxies retreating from each other at ever-accelerating speeds.

Since then, ever-larger telescopes have shown the observable universe spans an 

incomprehensible 92 billion light-years across and contains perhaps 2 trillion galaxies.  And 

yet, astronomers are still left wondering how much more universe is out there, beyond what 

they observe.

“The universe has always been slightly larger than what we can see,” says Virginia 

Trimble of the University of California, Irvine, an astronomer and expert in the field’s history.

Building bigger telescopes won’t help extend the cosmos anymore.  “Telescopes only 

observe the observable.  You can’t see back in time further than the age of the universe,” 
explains Nobel Prize-winning cosmologist John Mather of NASA’s Goddard Space Flight 

Center, who’s also chief scientist for the James Webb Space Telescope.  “So we are totally 

limited.  We’ve already seen as far as you could possibly imagine.”  At the edge, we see the 

leftover glow from the Big Bang― the so-called cosmic microwave background radiation 

（CMB）＊2.  But this isn’t some magical edge of the universe.  Our cosmos keeps going.  We 

just may never know how far.

In recent decades, cosmologists have tried to solve this mystery by first determining the 

universe’s shape, like the ancient Greek mathematician Eratosthenes calculating Earth’s 

size using simple trigonometry＊3.  In theory, our universe can have one of three possible 

shapes, each one dependent on the curvature＊4 of space itself: saddle shaped （negative 

curvature）, spherical＊5 （positive curvature） or flat （no curvature）.
Few have championed a saddle-shaped universe, but a spherical cosmos makes sense to 

us earthlings＊6.  Earth is round, as are the sun and planets.  A spherical universe would let 

you sail into the cosmos in any direction and end up back where you started, like Ferdinand 

Magellan’s crew circumnavigating the globe.  Einstein called this model a “finite yet 

unbounded universe.”
But starting in the late 1980s, a series of orbiting observatories built to study the CMB 

made increasingly precise measurements showing that space has no curvature at all.  It’s flat 

to the limits of what astronomers can measure― if it is a sphere, it’s a sphere so huge that 

even our entire observable universe doesn’t register any curvature.

著作権の関係のため、掲載できません。
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“The universe is flat like an ［endless］ sheet of paper,” says Mather.  “According to this, 

you could continue infinitely far in any direction and the universe would be just the same, 

more or less.”  You’d never come to an edge of this flat universe; you’d only find more and 

more galaxies.

That’s all well and good with most astronomers.  A flat universe agrees with both 

observation and theory, so the idea now sits at the heart of modern cosmology.

The problem is that, unlike a spherical universe, a flat one can be ― or not.  

And there’s no real way to tell the difference.  “What could you look for to see whether 

there’s an infinite universe?” Trimble says.  “Nobody quite knows.”
So instead, astronomers hope an answer can come from theory― a model that could 

offer indirect proof one way or the other.  For example, the Standard Model of physics 

predicted the existence of numerous particles, like the Higgs Boson, years before they were 

actually discovered.  Yet physicists still presumed those particles were real.

“If you have a good description of everything you’ve observed so far and it predicts 

something is true, then you expect it is,” Trimble says.  “That’s how most scientists think 

about how science works.”
＊1 congeries: 寄せ集め，集団
＊2 cosmic microwave background radiation （CMB）:  宇宙マイクロ波背景放射（宇宙のあら

ゆる方向から降り注ぐ電磁波）
＊3 trigonometry: 三角法（三角形の辺の長さと角度の関係を研究する数学の分野のひとつ）
＊4 curvature: 曲率（空間の歪み方の度合）
＊5 spherical: 球形の
＊6 earthling: 地球人

【No. 23】 Select the most suitable word from those below to fill in the blank space .

1．infinite

2．large

3．magical

4．simple

5．small

【No. 24】 Select the statement which best corresponds to the contents of the passage.

1．A new high-powered telescope will allow us to observe the origin of the universe.

2．Magellan discovered that the earth is round during his voyage.

3．It is still unclear whether a flat universe is actually unlimited or not.

4．The universe is often compared to folded paper.

5．Many scientists believe that hypotheses based on theories are useless.

著作権の関係のため、掲載できません。
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【No. 25】 次の会話の（　　　）内に㋐～㋖の語句を文意が通るように並べ替えて入れるとき， 
2 番目と 5番目に来るものの組合せとして最も妥当なのはどれか。

Ａ：Have you heard about the workshop called “Helpful Tips for Pregnant women”?
Ｂ：No.  I haven’t, but it sounds interesting.

Ａ： I highly recommend it!  Trained facilitators cover resources and services available for 

pregnant women in the community.  They also （　　　　　　　　　　） in their lives.

Ｂ：Oh, I’d like to attend that workshop.

㋐ advice　㋑ can reduce　㋒ give　㋓ how　㋔ on　㋕ pregnant women　㋖ stress

2 番目 5番目
1． ㋐ ㋓
2． ㋐ ㋕
3． ㋓ ㋐
4． ㋔ ㋑
5． ㋖ ㋓
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【No. 26】 Select the statement which best corresponds to the contents of the following 

passage.

When the only surviving ship from Magellan’s fleet returned from its historic voyage 

around the world in 1522, there were some unusual birdskins aboard that created quite a 

stir.  The birds had gorgeous feathers but appeared to have had no bones― or feet.  Stories 

spread about the amazing “bird of God,” so special that it stayed aloft＊ forever, with no need 

for feet on which to rest.  The legend remained intact for more than 200 years, even 

appearing in a work on natural history by Linnaeus in 1735, where it was given the scientific 

name of apoda, which means “footless.”  Only after many years was it discovered that skillful 

natives of the East Indies had skinned, drawn, smoked, and prepared actual birds, never 

before seen by Europeans, to look footless and boneless.  These birds today are still known 

by the name given them at that time― birds of paradise.

＊ aloft: up in the air

1．Magellan sailed around the world and came back in 1735.

2．Magellan found a unique bird without wings.

3．Nobody believed the legend of the “bird of God” when scientists named the bird.

4．People in the East Indies were used to eating boneless birds.

5．Birds of paradise were said to float eternally.

著作権の関係のため、掲載できません。
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【No. 27】 図のように，水平面より高さHの点から小球 
Aを自由落下させると同時に，その点より水平方向に L
だけ離れた点から，小球Bを水平方向に速さ v0 で Aに
向けて投げ出した。このとき，Aと Bが空中で衝突す
るために必要な v0 の条件として最も妥当なのはどれか。
ただし，重力加速度の大きさを gとする。

1．v02 H
L
g

2

2．v02 H
L
g
2

3．v02 H
L
g

4．v02 gL
H2

5．v02 L g
H2

【No. 28】 図のように，点Oを中心とする半径 rの一様
な円板から，Oより r

2
だけ離れた点Olを中心とする半

径 r
2
の円板Aを切り抜き，残った板Bの重心をGとす

る。OG間の距離として最も妥当なのはどれか。

1． r
12

2． r
8

3． r
6

4． r
4

5． r
3

A

H

L

Bv0

A

B

G
r

OOl

r
2
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【No. 29】 図のように，水平面と i（0°1 i1 90°）の
角をなす粗い斜面上に質量 mの小物体Aを置いて，A
に糸の一端を付け，滑らかに回転する軽い定滑車を通し
て糸の他端にAと同じ質量mの小物体Bを付けた。い
ま，Bを静かに放したところ，Bは落下し，Aは斜面に
沿って上向きに滑った。このとき，糸の張力の大きさと
して最も妥当なのはどれか。
ただし，Aと斜面の間の動摩擦係数を nl，重力加速度の大きさを gとする。

1． sin cos
mg
2
1 i n i+ + l] g

2． sin cos
mg
2
1 i n i+ - l] g

3． sin cos
mg
2
1 i n i- - l] g

4． cos sin
mg
2
1 i n i+ + l] g

5． cos sin
mg
2
1 i n i- - l] g

【No. 30】 図のように，滑らかな水平面上に質量 4.0 kg の台が置かれており，台の上面は滑らか
な水平面AB及び滑らかな曲面BCからなっている。いま，台が静止した状態において，面AB上
で質量 1.0 kg の小球を，速さ 5.0 m/s で図の矢印の向きに運動させたところ，小球は面BC上で
最高点に達した。このとき，面ABから最高点までの高さはおよそいくらか。
ただし，小球は台から離れることなく運動するものとし，重力加速度の大きさを10 m/s2 とする。

A B

C

1． 0.60 m
2． 0.80 m
3． 1.0 m
4． 1.2 m
5． 1.4 m

A

i

B
m

m
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【No. 31】 図のように，鉛直上向きに一定の加速度 aで上昇しているエ
レベーターの中で，質量mの小物体Aが，天井からばね定数 kの軽いば
ねでつるされている。いま，エレベーターの中にいる人がAの運動を観
測する場合を考える。このとき，静止しているAを鉛直下向きに引っ
張って静かに放したところ，Aは振動を始めた。この振動の周期として
最も妥当なのはどれか。
ただし，重力加速度の大きさを gとする。

1．
k
m

r

2．
k
m

2r

3．
kg

m g a
2
r +] g

4．
kg

m g a
r

+] g

5．
kg

m g a
2r

+] g

【No. 32】 図のように，中心O，半径 rの滑
らかな半円筒面が水平面上に固定されている。
いま，半円筒面の頂点Aから小球を静かに滑
らせたところ，点Bで小球は半円筒面を離れ
た。OBが鉛直線OAとなす角を i0 とすると
き，cosi0 の値として最も妥当なのはどれか。

1．
3
1

2．
2
1

3．
3
2

4．
2
2

5．
2
3

a

A m

k

A

O

r

B
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【No. 33】 気体分子の運動に関する次の記述の㋐，㋑，㋒に当てはまるものの組合せとして最も妥
当なのはどれか。
ただし，重力の影響は無視できるものとする。
「図のように，中心O，内半径 rの滑らかな内壁をもつ球形容器の内部で，質量m，速さ vの分
子Aが内壁に入射角 45°で弾性衝突している。Aが 1回の衝突で内壁に及ぼす力積の大きさは 
㋐ で，単位時間当たりに内壁に衝突する回数は ㋑ である。したがって，Aが単位

時間当たりに内壁に及ぼす力積の大きさの和，つまり，Aが内壁に及ぼす平均の力の大きさは 
㋒ である。」

㋐ ㋑ ㋒

1． mv2
r
v
2 r

vm
2
2 2

2． mv2
r
v

2
2

r
mv2

3． mv2
r
v

2
2

r
mv2 2

4． 2mv
r
v
2 r

mv2

5． 2mv
r
v
2 r

mv2 2

【No. 34】 滑らかに動くピストンが付いた容器に n〔mol〕の単原子分子理想気体が閉じ込められて
おり，気体の絶対温度は T0 となっている。この気体の体積を一定に保ったまま，ゆっくりと絶対
温度を T1 にする場合に気体が受け取る正味の熱量 Q1 と，圧力を一定に保ったまま，ゆっくりと
絶対温度を T1 にする場合に気体が受け取る正味の熱量 Q2 の組合せとして最も妥当なのはどれか。
ただし，気体定数を Rとする。

Q1 Q2

1． nR T T
2
3

1 0- -] g nR T T
2
5

1 0- -] g
2． nR T T

2
3

1 0- -] g nR T T
2
5

1 0-] g
3． nR T T

2
3

1 0-] g nR T T
2
3

1 0- -] g
4． nR T T

2
3

1 0-] g nR T T
2
5

1 0-] g
5． nR T T

2
5

1 0-] g nR T T
2
3

1 0-] g

45°
45°

O A

v

r

m
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【No. 35】 図は，x軸の正の向きに速さ
3.0 m/s で進む正弦波の，位置 x= 0 にお
ける媒質の変位 y〔m〕と時刻 t〔s〕の関係を表
したものである。この正弦波の位置 x〔m〕に
おける，媒質の変位 y〔m〕と時刻 t〔s〕の関係
を表す式として最も妥当なのはどれか。

1． siny t
x

2 0
2 3 0

．
．

r
=- -d n( 2

2． siny t
x

2 0
2 3 0

．
．

r
=- +d n( 2

3． siny t
x

2 0
3 0

．
．

r=- -d n( 2

4． siny t
x

2 0
3 0

．
．

r=- +d n( 2

5． siny t
x

2 0 2
3 0

．
．

r=- -d n( 2

【No. 36】 図のように，焦点距離 10 cmの凹レンズの前方 15 cmの位置に物体を置いたとき，レ
ンズによってできる物体の像の位置と種類の組合せとして最も妥当なのはどれか。

前方

焦点 焦点

10 cm

15 cm

10 cm

物体

光軸

後方

像の位置 像の種類
1．レンズの前方  6 cm 正立虚像
2．レンズの前方  6 cm 倒立実像
3．レンズの後方 30 cm 正立虚像
4．レンズの後方 30 cm 倒立実像
5．レンズの後方 30 cm 倒立虚像

O

-2.0

2.0

2.01.0 3.0 t〔s〕

y〔m〕
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【No. 37】 電場と電位に関する記述㋐～㋓のうち，妥当なもののみを挙げているのはどれか。
㋐　ある地点の電位は，基準点からその地点まで単位電荷が移動する際に，静電気力が単位電荷
にする仕事と等しい。また，電場は電位の低い点から高い点に向かう向きである。

㋑　ある地点の電気力線の接線の方向は，その地点の電場の方向に等しく，等電位面と直交する。
また，電気力線の密度は，その地点の電場の強さに比例する。

㋒　電流が流れていない導体を電場の中に置くと，外部の電場を打ち消すように導体内部の電荷
が移動し，導体内部の電場の強さは 0となる。

㋓　絶縁体（不導体）を電場の中に置くと，絶縁体には自由電子が存在しないため，電荷の移動は
起こらず，絶縁体内部の電場は外部の電場と等しいままである。

1．㋐，㋑
2．㋐，㋒
3．㋐，㋓
4．㋑，㋒
5．㋒，㋓

【No. 38】 図のように，電気容量がそれぞれ C，2C， 
3CのコンデンサーC1，C2，C3，電圧Vの直流電源 
及びスイッチS1，S2を接続した回路がある。初め，S1， 
S2 は開いており，全てのコンデンサーには電荷が蓄 
えられていないものとする。まず，S1 のみを閉じて 
十分時間が経過したとき，C2 に加わる電圧は V2 で 
あった。次に，S1を開いてからS2を閉じて十分時間 
が経過したとき，C2に加わる電圧はV2lであった。V2 とV2lの組合せとして最も妥当なのはどれか。
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【No. 39】 図のように，xy平面において，xF 0 の
領域に，磁束密度の大きさ Bの一様な磁場が紙面の
表から裏の向きにかけられている。いま，xy平面上
を， 1辺の長さが lの正方形のコイル abcd が一定の
速さ vで x軸の正の向きに動いている。コイルの抵
抗は Rで，辺 bcは常に x軸と平行である。コイルの
辺 cdが x= 0 に達したときから辺 abが x= 0 に達
したときまでの間において，コイルを流れる電流の向
き（図中の辺 bcの矢印㋐，㋑）及びコイルで発生する
ジュール熱の組合せとして最も妥当なのはどれか。

電流の向き ジュール熱

1． ㋐
R
vB l2 3

2． ㋐
R
vB l3 2

3． ㋑
R
vBl4

4． ㋑
R
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5． ㋑
R
vB l3 2
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㋐
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18 １ 38 １
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20 ４
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